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1. �fn´[0, 1]þ��ÿ¼ê�§A�??Âñuf"e1 ≤ q < p < ∞§¿
�‖fn‖Lp´k.�"y²µ

fn → f in Lq.

2. �E´R¥���f8§÷vm∗(E) > 0§Ù¥m∗L«	ÿÝ"y²µéu

?Ûα ∈ (0, 1)§�3��m«mI§¦�

m∗(I ∩ E) ≥ αm∗(I).

EC¼ê

1. �§z4 − 8z − 10 = 03��1 < |z| < 3þkA��º��oº

2. �f(z)3{|z| < 1}S)Û§3{|z| ≤ 1}þëY§¿�§�|z| = 1�§k|f(z)| =
1"Áy²µf(z)£�±)Ûòÿ¤�¤́ kn¼ê"
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1. � f(x1, x2) ´,�²¡«� D þ�1w¼ê"�Än�î¼�m E3 ¥

�­¡ S:

(x1, x2, f(x1, x2)), (x1, x2) ∈ D.

Pfi := ∂f
∂xi , i = 1, 2, |∇f |2 :=

∑2
i=1 f

2
i .

(1) ¦­¡ S �1�Ä�/ªÚ1�Ä�/ª"

(2) ¡²þ­Ç�"�­¡�4�­¡"y²µe f ÷v�§

2∑
i=1

∂

∂xi

(
fi√

1 + |∇f |2

)
= 0,
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2. �¤±eµ

(1) Á�ä E3 ¥�ü (IO)¥¡3�KH4!�4ü:�§UÄ���²

¡«�ïáå�åC�¿`²nd"

(2) (1w)­¡þ?¿�½ü:§3ë(ùü:�¤k(1w)­�¥§ÿ/�

��Ý´Ä�½�á¿`²nd"

C­�ê

1. �Äé¡+S4§±9��(12)(34)¤3��ÝaC"£�S4�Ý�^3Cþµ

g.x = gxg−1"£�?���x ∈ C �­½zf�Stab(x) = {g ∈ S4 | g.x = x}§
Ù�f+"ÁäNO�C¥¤k���­½zf"

2. �Ä���F2 = {0̄, 1̄}§±9Ùþ���õ�ª�F2[t]§Ù¥t�C�"�

Ä±en�û�F2[t]/(t2), F2[t]/(t2 + t+ 1̄)ÚF2[t]/(t2 + 1̄)"Á�ä¿?Ø§
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